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For each polynomial, state the requested information and sketch the graph.
DO NOT USE YOUR ﬂA!.CULATQIE WHEN SKETCHING THE GRAPHI
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Consider the function p(r) = (r +4)(z + 2)%(x — 2)(x — 1)*. Note that p(r)
is already in factered form. The zeros of a polynomial in factored form can

be read off without trouble. We have r = —4, —2. 2 and 4. The multiplicitics
of —2 and 4 are two, Thus we have four branch points as shown on the chart
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Note that the four branch points divide the number line into five test inter-
vals, (—oo, —4),(—4.-2),(—2,2).(2,4), (4. 00). Scleet a fest point from cach
interval. Let's take —5, —3.0, 3. and 5.

To determine the sign of the fumection at each test point. build a matrix with
test points listed down the side and factors listed along the top. In the current
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test point [ (x + 4) [(z +2)7 [ (e — 2} [ (= — D | plr)
-9 = + - R +
« -3 + - - + ~
0 ¥ + - + <
3 + + + + *
5 - - + + +
i bt Al B, ot redicntbbos ol ool b S AT ,/ +++/A\
il — >
\_/ ""'g U( fﬁf nans i
- u rans)

4».‘4 &fﬁr vVES .,



